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General Instructions:
wft e et €1
All questions are compulsory.

39 9 T H 34 W €, € A @St &, ®, Waw g A wier v §1 |ue-a1 7 141 & % 8
sgfasreda 9w € wog-a ¥ 6 we ¥ formd ydw % 2 sies € @ue-w F 10 9y ¥ R wde &
3 3iek & aur @uE-g ¥ 10 W € fr vl & 4 ofw ) .
The question paper consists of 34 questions divided into four sections A, B, C and D. Section-
A comprises of 8 multiple choice questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-
D comprises of 11 questions of 4 marks each.

W W 9 H i famen @ ¥
There is no overall choice in this question paper

Srerepre 1 e ARt 21

Use of calculator is not permitted.

WUg-3T1 / SECTION ~ A

UV HEAT 1 A § W WA Y 1 37k |
Question numbers 1 to 8 carry 1 mark each.

65 31117 % HCF %1 4fE 65m — 117 % &4 ¥ e a1 ST Fehal & 76 m I AH & : 1

(a)ieie () 2 (1) el SR 1 )
If the HCF of 65 and 117 is expressible in the form 65m — 117, then the value of m is :

@ 4 L 2 R

I n W W GE R, A GEMSH n, n + 2T n+4 § T 3R Hew ©, e § v A

@) 2 ® 3 @ 5 @) 7

If n is a natural number, then exactly one of numbers n, n +2 and n +4 must be a multiple of :
(A2 ® 3 © s o 7

FEIQ y = 12— 1 T ST 3787 i T @ ¢

@) wefgw ® A figeiw

©  forelt off feig o et D) 3w

The graph of the polynomial y = x4—1 meets the x — axis in :

(A)  One point (B) 2points

(€)  nopoints (D) 3points

& & TG WA % T, GBI Sx+ =6 I 10x — ky = 12 HOTRR Y@ Frefira i §2

(2} 2 ) 5 (c) 7o | Adyul 10
For what value of 'k’ do the equations Sx + y =6 and 10x — ky = 12 represent coincident lines ?
@ 2 () 5 4 -2 (9 10

T TGS & fawl 24 cm 332 cm ¥ 1 wEEgS ¥ o A9 9 e ¥

(a) 12 cm (b) 12.8 em(c) 19cm (d) 19.2em

The lengths of the diagonals of a rhombus are 24 cm and 32 cm. The length of the altitude of the
rhombus is : ¢

{a) 12 cm {b) 12.8 cmi{c) 19cm (d) 19.2 cm

I W Fist ABC H, £A + £B=90° 99T cotB= m 2, 9 tanA TR E

= @ L @) i o 1
If LA+ £B=90°, saum in AABC, then tanA is equal to :
3 1 1
(&) ) (S s o 1
A sect +tand +1=0 8, T sech — tan H1HH & :
(8) | = ® 1 @ 0 @ 2
1f secO + tan® +1 =0 then sech —tan® is :
@ -1 ® 1 (c) g0 @ 2
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(A) ¥ER ® AR © =ET® D) @&
Which of the following is not a measure of central tendency in a distribution ? B
(A) Range (B) Median € Mode (D) Mean
R 5 D
@Ug-q/ SECTION - B In the figure, P and Q are points on the sides DE and DF respectively of the triangle DEF such that

DP=3.9 cm, PE=3 ¢cm, QD =3.6 cm, QF =2,4 cm. Is it true to say that PQJ|EF ? Give reason for your
answer.

WY HEAT 9 R 14 7k Tekw W 2 3T wT
Question numbers 9 to 14 carry 2 marks each.

&

%..a%xnomauw ¥, T sind + os6 N A T HIAC L

\\ iﬁiﬂ%n%wwﬁwwﬂgwﬁﬁmo&ﬂw_ 1 qE A &2 ST T 2

w1 s Gt If sind —cosd = =, then find the value of sin6 +coso.
The values of the remainder r, when a positive integer ¢ is divided by 3, are 0 and 1 only. Is it true ? 2
Justify your answer.
\N .\\ Tore= SrcriTeal sie e A T A : 2
fi 0 Y 2 =it : 0~-10 [10-20 [20-30 [30-40 [40~50
o T BIER plx) =~ (c+ Bx+32k +1) F GEF ¥l I arp=Zapd A K F AT W N E R 2 5 6
EaELdl
aand B are the zeroes of the polynomial p(x) =x*— (k+8)x+3(2k+1). Find the value of ‘K, if Find the median of the following frequency distribution :
1 [Classes:  [0-10 [10-20 [20-30 [30-40 [40-50 |
n+mnw.nm. { Frequency: [ 3 4 2 5 |6 )
u\s g foemd) sigus 91 FHY fa% s -39 -1 81 2

Find a quadratic polynomial whose zeroes are ~3 and —1.
WUe-¥/ SECTION - C

\K E 2
\/ P WY HWEAT 15 A 24 7 Wedsh W 3 3ieh w1 {1

Question numbers 15 to 24 carry 3 marks each.

el B Rag w545 T s e 3
i &, ADEF &t sSusi DE 31 DF W Haw: g p 3R Q ¥ YR & 6 DP=3.9 em, PE=3 cm, Provaihateee /s s Aviirrational titber.
QD=3.6 cm ST QF = 2.4 cm &1 4T PQJ|EF 8T WA QT2 37T IR H1 R0 Qg |

\a\ (6+19x + x* — 6x°) B (2+ 5x — 3x) ¥ W HHC T97 M1 & TENRA T WedTo T | 3
Divide (6 +19x +x*— 6x") by (2+5x — 3% and verify division algorithm.
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\m\ =1 % 70 Uil W = Y W b (M) e R 7 i T el 3
v\vgnwﬂmﬂi#mﬂmﬂﬁmﬂm&ﬂsﬁnwg&mﬁﬁ@sﬂﬁﬁ 3 (e ) U e LT R D RS,
(p—~1)x+3y=2;6x+(2~qy=6 :
For which values of p and q will the following pair of linear equations have infinitely many el Wl et | 13 27 18 10 1 1
solution 7 =
(p~1)x +3y=2; 6x+(2~q)y=6 - FerTer A GR1 AR 1 S MR 91 R |
The weights of tea in 70 packets are shown in the following table :
Weight
bu\ iy, for Fret wediorcor-gm 1 o Sifida &l @ 3 i) 200 - 201 |201 - 202|202 - 203 {203 ~ 204 |204 ~ 205|205 - 206
Ix-3y=6;x+y=1 No. of packets : [13 27 18 10 1 1
Show that the following pair of equations has a unique solution : Find fhe mean weight of packets using step deviation method.
¢=3y=6;x+y=1.
W\ #r wsis ABCD Rl AB|DC &, % frel AC e BD wER O W wfveds wd ¥ wwiEe f5 3
OA _ OB 600 TR % WIiTiech S 1 Fed 7 & : 3
O.no:mo_mcnamcm ium ABCD with AB|[DC i ch other at the point O o uoSﬁNoco&wooo@»ooo.@moao@Soo.@
Diag, AC an of a trapezium wi |IDC intersect each other at the point O. = %) |=m - mﬂ - o .
Show that 24 = 9B : RERY
oc ob i
P 250 440 540 580 595 600
A AT 3T T B 2
o >8wm.%3%§ﬂﬁaummm%qﬁ§m@m« m 3R PST=£PRQEI 3 The distribution for the weekly income of 600 families is given below :
Income | Less Less *| Less Less Less Less
g e 7 POR & wfaarg Brqw &1 (InRs) |than than than than than than
; ! : : PS _ PT 1000 2000 3000 4000 5000 6000
In a APOR, S and T are points on sides PQ and PR respectively such that S and Mo of 250 510 540 50 =05 0
£PST = /PRQ. Prove that PQR is an isosceles triangle. families
| Compute the median income.
\H\ Forrorfirdta el % T fo AT W T 3
ﬁu cos43” uu| cas37’ cosec53° v
sina7" tans’ tan25° tan45” tan65” tanss’ @|UE- o
Without using trigonometric tables, evaluate : TSP =D
mm cos453° wul cas37” cosecss’
sina7’ tans’ tan25" tand5’ tan65” tan85” Y AT 25 W 34 T TR UIT 4 R &
Question numbers 25 to 34 carry 4 marks each.
A Hv Mg 25 3
—o/ @ g asin®~bcos? _a"~b ¢ g
W tand A e @:;..:8.@ i T e S @ X # 104 e wen 1X F 96 famnd €1 o Teen W i B w4
Iftane = 8 that S5m0 " Beos® _ a? = b iR iRl 58 T fareT & R i ot & derw ol e & e S e A w
sl Bt D @ o A s i i o o i A

(b) o R e X e e X iR # den s S
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There are 104 students in class X and 96 students in class IX in a school. In a house
examination the students are to be evenly seated in parallel rows such that no two adjacent
rows are of the same class.

(@) Find the maximum number of parallel rows of each class for the seating arrangement.
(b) Also find the number of students of class IX and also of class X in a row.

(©) What is the objective of the school administration behind such an arrangement.

2w s s v S v e 5w aw d o, @ s A 4
9= T B W &1 A e 3 TohE gl & T e e 2 3 el i, 9 S 67
THT 5G SR &1 3T 1 9RET T HIRe
The area of a rectangle gets reduced by 9 square units, if its length is reduced by 5 units and
the breadth is increased by 3 units. The area is increased by 67 square units if length is
increased by 3 units and breadth is increased by 2 units. Find the perimeter of the rectangle.

\ AABC T HHaTE Bt , fTe AB=(3x+1) cm, BC=(2x+ 3y +5) cm #RAC= (x+9y+6) cm®Bix, 4
y T EIE A 1 ST I Hiferg |
AABC is an equilateral triangle in which AB=(3x+1) cm, BC= (2x+ 3y +5) cm and AC=(x+9y+6)
cm. Find values of x, y and the side of equilateral A.

\Nv\\ & i SRt A AABC H XY||AC & 7ol 7 fingst ABC 1 % S st & et 8, Ry e wAA 4
#1 AX 3w s

AB

C
B
B

X A
In the given figure, XY||AC in triangle ABC and it divides the triangle into two parts of equal

avea Find AX
AB

C
B
B

X

patd
0 T FHRI IS 1 H 25 cm & 3R 99 D 9l F A 0 g A5 cmAD B 7ol IR Yot 4
H T R i

>
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Hypotenuse of a right triangle is 25 cm and out of the remaining two sides, one is longer than the

other by 5 cm. Find the lengths of the other two sides.

An equilateral triangle is inscribed in a circle of radius 6 cm, Find its side,

vl
(30) o e o e e e g e et 1 s o

& e .

4.cot?60°+ sec®30°~ 2sin 245"

sin? 60°+ cos?45°
Evaluate :
4c0t?60°+ sec?30°— 23in 2 45°
sin? 60°+ cos?45"

\w\ A x=rsinA cosC, y=r sinA sinC 01 z r cosA R, 8 i FIAC 6 12417+ 2 B
Ifx=rsinA cosC, y =r sinA sinC and z=r cosA then prove that x>+ y + =1

.\m\ e e sfet o T, W W Wit o’ ) AT S5 (AR S -

250 300 350 400 450 500 550 600

=t 200 -|250 -f300 -[350 ~-[400 -[450 -[500 -]550 -

ARER : | 30 15 45 20 25 40 10 15

For the following frequency distribution, draw a cumulative frequency curve of less than tyy

[Class: —T200-250] 250 - 300 | 300350 | 350 - 400 | 400 - 450 | 450 500 | 500 - 550

550~ 600

| Frequency: [30 |15 145 |20 | 25 140 10

it

\ﬁ\ 1 SR w1 WA, HTEE U SeeE I ST -
et 0-50 B0-100 00-150 1150 - 200 200 - 250 [250~300 [300 - 350
ARERAT 2 B b v B il

Find mean, median and mode of the following data :

|Class |0 50 T50 100 [100=150]150 — 200]200 — 250] 250 300] 300 — 350 |
[Frequency [2 |3 [5 16 |5 [3 [1 |
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